
Sample 

 

1 
 

nso laLd`fr fo'ofo|ky; 
Dev Sanskriti Vishwavidyalaya 

izos'k ijh{kk
Entrance Examination

ch-,-@ch&,l-lh@ch-lh-,-@ch-ts-,e-lh-@fMIyksek
BA/B.Sc/BCA/BJMC/Diploma

le;% 1-5 ?kaVk Time: 1.5 Hours   iw.kkZad% 90                   M.M.: 90 
 

funsZ'k&(Instructions) 

1- ijh{kk gkWy esa dSYdwysVj] eksckby vkfn dk iz;ksx oftZr gSA 
Use of Calculators, Mobiles etc. is prohibited in the examination hall. 

2- bl iz'u&i= ds pkj [k.M A, B & C gSa ftuesa dze'k% 50] 20] ,oa  20 iz'u gSa vkSj lHkh iz'u 
vfuok;Z gSaA  
This question paper has four sections - A, B & C with 50, 20 and 20 questions in each section and all the questions 
are compulsory.  

3- izR;sd lgh mRrj ds fy, 1 vad ,oa izR;sd xyr mRrj ds fy, &-25 vad fuf'pr gSA  
Each right answer will be awarded by 1 mark and for each wrong answer -.25 marks would be deducted.  

4- ftl fdlh iz'u ds mRrj ds ckjs esa vki lqfuf'pr ugha gSa] mls u djsa D;ksafd izR;sd xyr iz'u ds 
dkj.k vki vius }kjk fn, x, lgh iz'u ds vad ls oafpr gks tk;saxsA  
Only attempt those questions where you are sure about the answer because each wrong answer will reduce marks 
secured from the right answer. 

5- iz'uksa ds lgh mRrj ds p;u ds fy, vki iz'u&i= ds lkFk nh xbZ mRrj iqfLrdk dk bLrseky 
djsaA  
To mark the right answer, use the answer sheet given with the question paper. 

6- lgh mRrj dk p;u dj] fuEu ekWMy dk vuqdj.k djrs gq, mRrj if=dk esa lgh xksys dks ,p-ch-
isfUly ls HkjsaA  
The right answer should be indicated by a filled up circle in the answer sheet with the HB pencil, as demonstrated 
below in the model question.   

 
 
ekWMy iz'u Model Question 

 
gfj}kj fdl unh ds fdukjs fLFkr gS\Hardwar is located on the bank of which river? 

v- ;equk          c- xkserh a. Yamuna   b. Gomti 

l- xaxk           n- lryqt c. Ganga d.   Satluj 
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[k.M&v Section-A 
lkekU; Kku General Knowledge 

 
 
1 ;wih,l dk foLr`r :i gS& 

¼v½ vubUVjIVsM ikWoj lIykbZ  
¼c½ ;wfuolZy ikWoj lIykbZ  
¼l½ ;wfuolZy ikWoj lfoZl  
¼n½ ;wfuolZy ikWoj lsfoax  

1 The full form of UPS is-  
(a) Uninterrupted Power Supply  
(b) Universal Power Supply  
(c) Universal Power Service 
(d) Universal Poer Seving  
 

    

2 U;wure eseksjh lkbt dh bdkbZ pqfu, & 
¼v½ dsch 
¼c½ ,ech 
¼l½ thch 
¼n½ Vhch 

2 Choose the smallest memory size unit- 
(a) KB 
(b) MB 
(c) GB 
(d) TB 

    

    

3 ^eS=h ,Dlizsl* jsy lsok dk lEcU/k fdlls gS\ 
¼v½ Hkkjr & ikfdLrku 
¼c½ Hkkjr & ckaXykns”k  
¼l½ Hkkjr & usiky  
¼n½ Hkkjr & HkwVku  

3 ‘Maitri Express’ railway service is related 
with-  
(a) India – Pakistan  
(b) India – Bangladesh  
(c) India – Nepal  
(d) India – Bhutan  
 

    

4 HkwdEi dh rhozrk dk ekiu fd;k tkrk gS&
¼v½ fjDVj iSekus ij  
¼c½ dsfYou iSekus ij  
¼l½ Mslhcy esa  
¼n½ ikLdy esa  

4 The intensity of earthquakes is measured- 
(a) on the Richter scale  
(b) on the Kelvin scale  
(c) in Decibel  
(d) in Pascal  
 
 

5 ^okj ,.M ihl* fdlus fy[kh& 
¼v½ VkyLVk;  
¼c½ egkRek xka/kh  
¼l½ pkYlZ fMdsUl  
¼n½ fdifyax  

5 Who wrote ‘War and Peace’  
(a) Tolstoy  
(b) Mahatma Gandhi  
(c) Charles Dickens  
(d) Kipling  
 

6 mÙkjk[k.M ds eq[;ea=h gSa& 
¼v½ gjh”k jkor  
¼c½ gjd flag jkor 
¼l½ MkW0 jes”k iks[kfj;ky fu”kad  
¼n½ MkW0 ds0 ds0 ikWy  

6 The Chief Minister of Uttarakhand is- 
(a) Harish Rawat  
(b) Harak Singh Rawat  
(c) Dr. Ramesh Pokhriyal Nishank 
(d) Dr. K.K. Paul  
 
 

7 LVP;w vkQ fycVhZ dgk¡ fLFkr gS\  
¼v½ yanu] bXySaM  
¼c½ fczlcu] vkLVªsfy;k  
¼l½ vkWdyS.M] U;wthyS.M  
¼n½ U;wvkdZ] ;w-,l-,l 

7 Where is the Statue of Liberty located? 
(a) London, England 
(b) Brisbane, Australia 
(c) Auckland, New Zeland 
(d) New York, U.S. 
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8 Okkf”kax lksM+k dk izpfyr uke gS& 
¼v½ lksfM;e dkcksZusV  
¼c½ dSfYl;e ckbZdkcksZusV  
¼l½ lksfM;e ckbZdkcksZusV  
¼n½ dSfYl;e dkcksZusV  

8 Washing soda is the common name for 
(a) Sodium Carbonate 
(b) Calcium Bicarbonate 
(c) Sodium Bicarbonate 
(d) Calcium Carbonate 

 
9 fo”o esa lcls yEch unh gS& 

¼v½ vestu  
¼c½ xaxk 
¼l½ uhy 
¼n½ lkmFk pk;u lh 

9 Longest river in the world-  
(a) Amazon  
(b) Ganga  
(c) Nile  
(d) South-China Sea 
 

10 jrkSa/kh fdldh deh ds dkj.k gksrk gS& 
¼v½ foVkfeu , 
¼c½ foVkfeu ch 
¼l½ foVkfeu ds 
¼n½ foVkfeu bZ 

10 Night blindness is caused due to deficiency 
of- 
(a) Vitamin A 
(b) Vitamin B 
(c) Vitamin K 
(d) Vitamin E 
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 [k.M&l Section-C 
¼nso laLd`fr] 'kkafrdqat] vk/;kfRed fo"k;½ 

(Dev Sanskriti, Shantikunj and Spiritual Topics) 
 

1 ia0 Jhjke “kekZ vkpk;Z }kjk fyf[kr fgeky; ;k=k 
o`rkUr dh iqLrd dkSu lh gS\ 
¼v½ lqulku ds lgpj  
¼c½ gekjh olh;r vkSj fojklr  
¼l½ eSa D;k gw¡  
¼n½ lr;qx dh okilh  

1 Which book is of Himalya Journey 
Comentary written by Pt. Shri Ram Sharma 
Acharya? 
(a) Companions of Solitude  
(b) Our will and Heritage  
(c) Who am I  
(d) Return of Satyug  
 

2 laoRlj ds vuqlkj u;k o’kZ dc ls izkjEHk gksrk gS\ 
¼v½ 1 tuojh 
¼c½ pS= “kqDy izfrink  
¼l½ dkfrZd “kqDy izfrink  
¼n½ fdlh ls ugha  

2 When does the New Year begin according 
to samvatsar?  
(a) 1st January 
(b) Chaitra Shukla Pratipada  
(c) Kartik Shukla Pratipada  
(d) None of these  
 

3 ;K fdldk izrhd gS\  
¼v½ lRdeksZa  
¼c½ cfynku  
¼l½ Hkh{kkVu  
¼n½ iwtk&ikB  

3 Which is symbol of Yagya? 
(a) Satkarma  
(b) Balidan  
(c) Bhikshatan  
(d) Pooja-Path  
 
 

4 czgeopZl~ fdl _f’k dh riLFkyh ij cuk gS& 
¼v½ fo”okfe=  
¼c½ nqokZlk  
¼l½ d.kkn  
¼n½ vf=  

4 Brahmavarchas is established on the 
tapasthali of which sage?  
(a) Vishwamitra   
(b) Durvasa  
(c) Kanad  
(d) Atri  
 

    

5 vk;qosZn fdl osn ls lacaf/kr gS\ 
¼v½ lkeosn  
¼c½ ;tqosZn  
¼l½ vFkoosZn  
¼n½ _Xosn  

5 Ayurveda realted to which Veda?  
(a) Samveda  
(b) Yajurveda  
(c) Atharvveda  
(d) Regaveda   
 

 
 

 


